MERERE AR — 2 THEMRE) FERR (2024 F5£ 9 A A5

:1: DT oricE z

(1) 55202 % 13 THlo = RD ZRD K. F/z, 5520 % 143 THIo 7R D ZKD K.
(2) KEIHOFEHEHIKERTH 2 Z & 2Rt

(3) G ZBRBEL T 2. |G| BERL ST G IIKEBETH 2 2 L 2Rt

2 | RS R (0 <t < ) TERENS M ¢

r = (24 cos3t)cos2t
y = (2+cos3t)sin2t
z = —sindt

t,éi@ﬁP:(—%i,>kOmT LT oicEz

2

(1) R P Z#ED, iR ¢ THET2EROSTERXZ KD K.
(2) AP TohfE ¢ ofiRZRD XK.

* 1 -
3 BB S(2) = g SO0, MUTFORIER

(1) f(z) DMIULFERSR L, ZZTOEBETNTRD K.

(2) RZIEDFEHK L T2, Razdbhe324FE ROMHDS 5, Bk 0 LLEOED
%@ﬁCZ?%.:@t%gm/]@yk:0@%5:k%%ﬁ.
— Jo

@)@ﬁ/‘ ! dr OEEKRDE. = 2T, o BFEERCH S,
Y Py P




MERERE AR — 2 THEMRE) FERR (2024 F5£ 9 A A5

A | BICu = ult 2) 1T B BT

%;:gg O<zx<mt>0)
P S
u(0,z) = z(r — x), 2—1:(0,:6) =0 (0<z<m)
ESENONT LTS i
u(t,0) =u(t,7) =0 (t>0)
DT T

5 | uromzaz
(1) « ZEBHENME L, C Lo 2IHBER R #XTED 3.

zRw = H50eRPHFELT 2= (cosf + isinf)w

ZOrE, RIIC LOFRMEBEFETHZZERE. £z, 1+i OFRIEEEZERF

H FICKRE XK.
(2) B d:R? x R2 5 R 2RTED 3.

d(z,y) == max{|z1 —yi|, |[ta =2} (v =(21,22), y= (y1,92) € R?)
ZOrE, dIFR? LOFERBEKTHL L enE. £, R?2 OEOES
A={zeR?|d0,z) <1}

2 FIC KR &

O | pRO<p<l BAETEMYL, X FHRS6H
PX=r)=0-pp (r=0,1,2.)

THRZAOLNIMWERERE TS, LITOMICEZR L.
1) s O FEOBEBErT L E, X >s b3S P(X >s) 2Rk k.
(2) s,t & 0 LUEOBHET 2%, ZMFOEME P(X > s+1|X 25) #RD X,

B) N EFERETHrE, X OFEEMEK M()\) = EleM] KD XK. 721, E[Z] &
MR 7 O (FRHE) 2R3, /2, ERAEEPERINS ) OHIFD
BHEd 352 k.

(4) X OFEFERD k.
(5) X o7z RD XK.




